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1. The selling price of an article is Rs. 1920

and the discount given is 4%. The marked price of
the article is

(A) Rs. 2400
(B) Rs. 2000
(C) Rs. 1600
(D) Rs. 1200

2. APJ Abdul Kalam was a famous
(A) artist
(B) scientist
(C) chemist - ’
(D) actor . ‘_

3. Ascorbic Acid is the scientific naine for
(A) Protein o
(B) Carbohydrate
(C) Vitamin C
(D) Vitamin D

4. The Right to Speech is ¢onsidered as
~ (A) Fundamental Duty

(B) Fundamental Right

(C) Fundamental Policy

(D) Sacred Right

5. The difference between the simple and
compound interest on a certain sum of money for
2 years at 4% per annum is Re. 1. Find the sum.

(A) Rs. 630
(B) Rs. 620
(C) Rs. 625
(D) Rs. 635

A2 . '

1. G f6 Ta FReraees 28 1920 il @3¢
4% Tes crenl 2x | I8 4es =
(A) 2400 =
(B) 200051
(C) 1600 Bigt
(D) 1200 Bret

2. 3T S P e e 2re
(A) Fsit
(B) s
~ (C) ARm : 1
(D) “itst -

N
TH

3. fAsffle «siba taeifes siffeir Ascorbic
Acid
(A) calfo
(B) =&
(C) TBifim C
(D) febifsi D

4. AT TR WP T wwsfo
(A) G wity
(B) N affwra
(C) Ghffis Afe
(D) Y =it

5. %gﬂﬁmﬁ%@ﬁwaﬁm%%w

8 B R 0T GA 2 1 Bi | Bl sifiie
faefa =at

(A) 630 Bist
(B) 6205w
(C) 625 %=t

(D) 635 o



6. If %:J‘_ . then find the value of *.

7. The ratio of the quantities of a acid and
water in a mixture is 1 : 3. If 5 litres of acid is
further added to the mixture, the new ratio becomes
1 : 2, the quantity of new mixture in litres is

(A) 32
(B) 40
C) 42
(D) 45

8. The upper limit for West Bengal Student
Credit Card Scheme is

(A) Rs. 20 lakhs
(B) Rs. 15 lakhs
(C) Rs. 10 lakhs
(D) Rs. 5 lakhs

9. 75% of anumber when added to 75 is equal
to the number. The number is

(A) 150
(B) 200
(C) 225
(D) 300

10. The sum of four consecutive even numbers
is 748. The smallest among them is

(A) 188
(B) 186
(C) 184
(D) 174
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6. T %:L T, O #- o T e e

121
2

25
2

4
(B) o

© 4
(D) 25

(A

7. =pifiG ¢ wre ARWTE fRvE el
1: 313 fSrefbes 5 B wife @@ Qe F4
2, T R ST T 1 : 2, 94 T Bt
oo sifsstist =
(A) 32
(B) 40
(©)42
(D) 45

8, /GG (I TH0ED (IFUD IS RTmE wES
S 2o A T =
(A) 20 7% Bl
(B) 15 &7 BiAl
(C) 10 == GBIl
(D) 5<% oidl

9. G AT 75% TIF 75-9F FH Q@19 Tl
7, ' Feifhe T 7 | WU =T
(A) 150
(B) 200
(©) 225
(D) 300

10. 9 57 SHl T FRYR FAB 748 | GITE
WA (R R 2=
(A) 188
(B) 186
(C) 184
(D) 174
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11:"A,Band C together can complete a piece of
workin 30 minutes. A and B togethercan complete
the same work in 50 minutes. C alone can complete
the work in

(A) 60 minutes
(B) 80 minutes
(C) 150 minutes
(D) 75 minutes

12. The recent UNESCO hentage .status ‘has
been given to .

(A) Ugadi

(B) Durga Puja

(© Bihu T
(D) Bhadu Song Lot

13. Pipe A and B can fill a tank in 10 hours and
15 hours respectively. In how much time will they
together fill the tank?

1
A) 12= hrs.
(A) 5 brs

(B) 6 hrs.
(C) 5 hrs.
(D) 4hrs.

14, The Jaldapara Reserve Forestis located in
(A) Assam
(B) Odisha
(C) West Bengal
(D) Nagaland

15. The Nobel Prize for Literature in 2023 has
been awarded to

(A) James Cameron
(B) Orhan Pamuk
(C) Jon Fosse

(D) Ben Okri

5

11. A, B € C 4312 936 ey 30 RFAG oy
WrA@Bw@mﬁsoﬁﬁﬁmwuc
G DG 1Y T

(A) 60 fif*d
(B) 80 G
(©) 150 fifads
(D) 75 RRG

12. 7726 |OE'T A% (T @ DM
heritage O3 (reT 2

(A) Sl
(B) it =frent
(C) e

(D) =1 st

13 #iiR%A <2 B, 10 951 @ 15 9617 IWFE

<3 BiIF <1 | O G TS 9B i ojef
TAC? '

(A) 12% 7B
(B) 69t
(C) 59%!
(D) 495

14. TERIAIG TSR (7 S e
(A) SN
(B) aftmt
(C) sif*saet
(D) et -

15. 2023 3ite1 AfRes R Giites s s = ¢
(A) o IGEA
(B) 672 A®
(C) = T
(D) &= e



16. 60% students of a school are girls. If the
total number of girls in the school is 690, then the
total number of students in the school is

(A) 1150
(B) 1100
(C) 1200
(D) 1050

- 17. Sea Salt contains
(A) Protein
(B) lodine
(C) Nicotine
(D) Vitamin

18. The Grant of Diwani was given to the
English East India Company in

(A) 1764
(B) 1765
(C) 1771
(D) 1772

19. The supreme insurance regulator of India is
the ‘

(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

20. The Palk Strait separates India from
(A) Indonesia
(B) Sri Lanka
(C) Thailand
(D) Maldives

A-5
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16. (R FEE WARATH 60% W | T e]
FF @ 690 T WA AT, T €2 FH G
A A AR A

(A) 1150
(B) 1100
(C) 1200
(D) 1050

17. Tl FE @ < oW et 3.
(A) calfor
(B) WA
(C) T
(D). feBifm

18. (ASTIRE 7 23S 25 2feal T @
FIE 2 T 2=
(A) 1764
(B) 1765
(©) 1771
(D) 1772

19. erEeIEa A I fFTEe AR TE 2|
(A) IRDA
(B) PFDA
(C) CRIDA
(D) CRISIL

20. % SR SeIET A @ oiba S
Wi T3

(A) T
(B) Rers

(C) UWETS
(D) Wit
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21. The Portuguese were ousted from Bengal
by
(A) Mir Jumla
(B) Shaista Khan
(C) Mir Qasim
(D) Faiz Khan

22. TheHindu College was founded in the year
(A) 1818
(B) 1817
(C) 1819
(D) 1820

23. If78is divided into three parts which are in

the ratio 1 : % : é, then middle part is

1

A) 9=

(A) 3

(B) 13
1

o 17=

(C) 3 .
1

D) 18—

(D) 3

24. The Capital of British India was shifted
from Calcutta to Delhi in

(A) 1910
(B) 1911
(C©) 1912
(D) 1913

25, The First General Elections were conducted
in Independent India in

(A) 1951
(B) 1952
(C) 1953
(D) 1954

'A-6

2L O (T g R et
BT T

(A) =g
(B) =t A=
(C) S =i
(D) TG I

22. & s efofoe <l @ st
(A) 1818
(B) 1817
(C) 1819
(D) 1820

23. 7w 78 Mors oG wieee Frow =1 o,

TR SRS 1 -;- : %,Wﬂm‘ﬁﬁ@

1

A) 9=
(A) 3
(B) 13
1

17

© 175
1

D) 18~
(D) 3

24, @%Wﬁ@@ﬁwwﬁmww
(S e 7o @
(A) 1910
(B) 1911
(C) 1912
(D) 1913

25, w%wammmﬁamwmw
(A) 1951
(B) 1952
(C) 1953
(D) 1954



26. A train 280 m long is moving at a speed of
60 km/hr. What is the time taken by the train to
cross a platform 220 m long?

(A) 45 sec
(B) 30sec
(C) 40 sec
(D) 35sec

27. Seismograph is used for measuring
(A) Tsunami
(B) Earth Quake
(C) Volcanic Eruption
(D) Cyclone

28. A sum of money at simple interest amounts
to Rs. 1350 in 5 years and to Rs. 1620 in 8 years.
The sum of money is

(A) Rs. 700
(B) Rs. 800
(©) Rs. 1000
(D) Rs. 900

29, Pratapaditya was the rulep of
(A) Jharkhand
(B) Jessore
(C) Barisal
(D) Natore

30. The Hirakud Dam is situated on the river
(A) Godavari
(B) Krishna
(C) Cauvery
. (D) Mahanadi
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26. 280 RS e 976 G 60 TR/ =eot et
sifie | 220 s Crodie «fl aifbm! s 7w

(Gioa e 7MW AL

(A) 45 GTTS
(B) 30 &S
(C) 40 GITT
(D) 35 TS

27, Bridre 36 @ e ) IIT W
(A) TR T
(B) T sl
(C) Faestrs
(D) T AT TR

28}, TRE S (I B 5 T2 1350 DIl o0 @
8 a7 1620 51l 9% T | €2 BiFw Al =

(A} 700 GBIt
(B) 800 Bzl
(C) 1000 Bt
(D) 900 Bl

29, =eiAifre; @ AT i R
(A) I
(B) TS
(C) TR
(D) #EI

30, fearw Y @ M9 @o1F (e TR
(A) oM

(B) T
(C) FEK

(D) WAl
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31. Neel Darpan was written by 31, Femet aEfw @9 TEm
(A) Rajanikanta Das (A) TG 7
(B) Dinabandhu Mitra B) mﬁm
(C) Mukunda Das EC) R
(D) Chittaranjan Das
‘ (D) foegm wm
32. The Earth consists of three-fourth water 32. “+ff Q3 &7 wol o1 9 9T Ot T, @3
and one-fourth land, which is e
(A) false (A) W
(B) true (B) %
(C) partly true s
(D) not scientifically proved . (€) SRF ey

(D) it (e fofe @iz

33. The 25th term of the series 2, 5, 10, 17, 332.2, 5,40, 17, 26, ... Bifawia 250w o =3
26, ...1is (A) 626
(A) 626 (B) 323
(B) 323 (©) 424
(©) 424 (D) 525
D) 525 '
34. The present Secretary*General of UNO is 34, IEINA YA TIBT 2w
(A) Kofi Annan (A) I g
(B) Butros Butros Ghali ] (B {C‘E‘P{ {@m Q1
(C) Antonio Guterres (C; wEiRe @W
{D) None of the above )
(D) Bo== @03
35. A man bought 20 dozen eggs for Rs. 720. 35. 720 OiE 9F I 20 G ow Rwlse | af
What should be the selling price of each egg ifhe &6 20% =11S (A0S 517 O 2SR f@,—(_:;qﬁmﬁ
wants to make a profit of 20%? . FT? ’
(A) Rs. 325 _ (A) 325 B
®) Rs.330 . B) 330 5
(C) Rs. 360 ) (B)

(D) Rs. 350 ' . (C) 360 it
. , (D) 3-50 i




36. In how many years will a sum of Rs. 3000

yield a simple interest of Rs. 1080 at 12% per
annum?

(A) 3
1

®) 25

(©) 2

1
D) 32

37. An amount will double itself in 16 years at
a certain rate of simple interest per annum. The
rate of interest per annum is

(A) 10%
lg
®) 6%
(©) 8%
1
®) 12,%

38. The Shanti Swarup Bhatnagar Award,is
given for

(A) Performing Arts

(B) Peace

(C) Science and Technology
(D) Sccial Service

39. Two numbers are in the ratio 3 : 5 and their
LCM is 225. The smaller number is

(A) 45
(B) 60
(©) 75
(D) 90

40. The UNESCO Award for Kanyasree had
been given to

(A) Andhra Pradesh
(B) Tamil Nadu
(C) West Bengal
(D) Assam

A9
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36. O TR 3000 DI AHART 12% % 77
% 1080 Bt T2

(A) 3
1
(B) 7—'2—
© 2
1
®) 33

37. Qi = T RS Q0 16 TR (IIEA! Gl
7 foedt @, AR TR TR A
(A) 10%

(B) 6%%
(©) 8%
1
Lq,
® 125

38, =Iif% ¥l Sl T2 L T A W
(A) FEe
(B) =i
(C) R ¢ a3f®
(D) e Gt

39. B IR SIS 2 3 1 5 UK OIS AL,
= 225 | (0! R =

(A) 45

(B) 60
(© 75
(D) 90

40. TR 27w TolerR FERIRS AEE
T AT (A FFO FA W

(A) SmeAw
(B) ofEmIT
(C) +feTa=

(D) =iAE
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~41. 20% loss on selling price is what per cent
loss on the cost price?

(A) 25%
(B) 15%

©) 16%%

D) 16%%

42, The last and the tenth Guru of the Sikhs had
been

(A) Guru Teg Bahadur
(B) Guru Hargovind
(C) Guru Gobind Singh
(D) Guru Har Kishan

43, If the cost of 18 chairs is equal to selling
price of 16 chairs, then the gain percentage is

(A) 12:5%
B) 13%
(C) 13:5%
(D) 14%

44. In an examination, 93% of students passed

and 259 failed. The total number of students -

appearing at the examination was
(A) 3700
(B) 3850
(C) 800
(D) 1000

45. The Doctrine of Lapse was introduced by
(A) Lord Comnwallis
(B) Lord Wellesley
(C) Lord Dalhousie
(D) Lord Clive

A-10

41. REmErn B4 209% =R 2@, FngE
Tt 0 oI HS A

(A) 25%
B) 15%

©) 16%—%

(D) 16%%

42, B TR W 93 SR o R
(A) oF (5 AQH '
(B) o Zauifaw
(C) a% oM Big
(D) &% 29

43. 3w 18% oFET FEE 168 GIES
(A) 12:5%
B) 13%
(©) 13-5%
(D) 14%

44, <3 AN, 93% T M IR 9R 259
T R (@ IR 2 HAHW @G weo T
CoAfgs foer e

. (A) 3700
(B) 3850
(C) 800
(D) 1000

45. TQETE e A R e Bew
(A) =76 F{eqFH
(B) &% eratemie
(C) =16 e
(D) =€ FiR®



46. 1f738A6A isdivisible by 11, then the value
of Ais

(4) 6
®) 9
(© 3
®) 1

47. If the ratio of the cost price and the sale
price of an article be 5 : 6, the percentage of gain
is

(A) 25%
(B) 20%
(C) 18%
D) 15%

48. The Sreerampore Trio comprised of
(A) Clive-Watson-Watts
(B) Carey-Marshman-Ward
(C) Lal-Bal-Pal
(D) Hastings-Cornwallis-Shore

49, If% of A = 75% of BIE 06 of C, then
A:B:Cis

(A) 9:5:4

(B) 9:4:5

(C) 4:5:9

D) 5:9:4

50. The Small Pox Vaccine was invented by
(A) Joseph Lister
(B) Ronald Ross
(C) Edward Jenner
(D) Jonas Salk

A-11 BMRI/22

46. 1% 738A6A TG 11 7= Reiey &, 9+
A~ A
(A) 6
B) 9
(C) 3
D) 1

47. T @I 3T FEED ¢ REAEDR A
5 : 6, U ST (ST WA

(A) 25%
(B) 20%
©) 18%
(D) 15%

48, Siztepa < A A +AfRe frem
(A) FiS-€HBAF-GTGH
(B) F-sfae-eure
(C) FF-IET-HEA
(D) @PBFA-INeATH-CIE

49. T A9 % = B89 75% = C-9 0+6, O3

A:B:CZ@

Please Turn Over
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51. Two successive discounts of 10%, 20% are
given on the cost price of an article. Selling price
now is Rs. 720. Cost price of the article is

(A) Rs. 1000
(B) Rs. 1200
(C) Rs. 900
(D) Rs. 1100

52, The ratio between two numbers is 2 : 3. If
each number is increased by 4, the ratio between
them becomes 5 : 7. The difference between the
numbers is

(A) 8
B) 6
©) 2
(D) 4

53. If the numerator of a fraction is increased
by 20% and the denominator is decreased by 10%,

16
the value of the fraction is 21 The original
fraction is

(A)
®)
(©)

LW L s 3w

(D)

54. The book Arthashastra was written by
(A) Baudhayana
(B) Chanakya
(C) Panini
(D) Patanjali

55. The Aravalli Mountains are located in
(A) Jharkhand
(B) Rajasthan
(C) Afghanistan
(D) Bihar

A-12

51. (AT LT FAEHR 8T YA s

S 10% @ 20% e 63 7= s = 720
Bi | 6% T TV

(A) 1000 B
(B) 1200 Siet
(C) 900 Bi
(D) 1100 Sl

52, qMRBEEIAMC2: 3 157 dreT ARGt 4 T
qﬁm,wmwmqﬂs:ﬂﬁwiﬁawaf
(A) 8
(B) 6
© 2
(D) 4

53. 7 G0 enikTa 71 20% 3fE W «R =

16
10% 39 71T, oA SN w s o1 e
£

(A)
(B)
©

W L s < w,

(D)

54, SRy ofba e e
(A) s
(B) By
(©) =faF
(D) ~fogfe ‘.

55. i SRfeNE @ e
(A) oo
(B) Arerg=
(C) STsifz
)REEES



56. Discovery of India was the work of

{A) Mahatma Gandhi
(B) Kalidas

(C) Jawaharlal Nehru
(D) Badshah Khan

' 57. The volumes of two cylinders are in the
ratio 3 : 8 and their heights are in the ratio 2 : 3.
Then the ratio of their radius is

58.

(A) 3:8
(B) 4:3
(C) 2:3
(D) 3:4

%of64+30%of?=121

(A) 270
B) 250
(©) 125
(D) 225

59. The two west-flowing rivers of India are

(A) Krishna and Godavari
(B) Brahmaputra and Ganga
(C) Sone and Chambal

(D) Narmada and Tapti

60, If the radius of acircle is increased by 10%,
then percentage of increase of its area is.

(A) 17
(B) 21
©) 12
(D) 15

A-13 " BMRI22

56. ‘Torreld oi% 3G d5va @S o
(A) w2 st '
(B) Fifemp
(C) TSI U
(D) =i A

57. 9t Fiferenas Swers wgse 3 : § uR
O CHSIT TS T 2 ; 3 | O YT A
« ‘ ‘

(A) 3:8
(B) 4:3
©) 2:3
(D)43 : 4

$8. 6A-qq % + 47 30% = 121

(A) 270
(B) 250
©) 125
(D) 225

59. SRS 4o “fen wfewR ang =N 2=
(A) %8 (SRl
(B) FRIsq €3 1A
(C) (I 6 vae
(D) Wt 938 ifes

(60, M @M oaw I 10% I oA, o
I CFIFETS Jiad 2ol o7
A) 17
(B) 21
© 12
(D) 15
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61. Insulin is secreted from
(A) Liver
(B) Pancreas
(C) Stomach
(D) Brain, |

62. The value of xwhen 5% of /2 x is0-01 will
be °,

(A) 003

(B) 0-02

(C) 001

(D) 0:05

63. Divide Rs.450among A, B and C such that
A:B=2:3andB:C=6:5. Share of Cis
{A) Rs. 90
(B) Rs. 100
(C) Rs. 150
{D) Rs. 120

64. If ab, bc, x and ¢? are in proportion, then
find the x, if none of these is equal to zero.

(A) a’c
(B) c%a
(©) ac

(D) azc?

65. The difference of 576 and 2-5 is
(A) 254
(8) 373
(C) 3-46
D) 3-43

A-14

61. TTEW T @ =¥ (T oo =
(A) Frem
(B) sin=feram
(C) =FZR
(D) wi¥®

62. T 2 x 994 5% T 0-01, 94 x4 WA A
(A) 0-03 '
(B) 002
(C) 001
(D) 0-05

63. 45051F1F A, B €3 C-97 T 9Tl Siot
PAOTIFTA :B=2:34RB:C=6:51C~¥F
olal 28

(A) 90 it
(B) 100 B
(C) 150 BrA
(D) 120 5=l

64. AW ab, be, x'8 c2 AT AT, T x-GI T
fefar e, AT T S = 3
(A) ac
(B) c2a
©) ac
(D) a%c?

65. 5-76 @ 2-3-99 9EI T
(A) 2-54
(B) 3-73
(©) 3-46
(D) 3:43



66. The United Nations Day is celebrated every
year on

(A) October 25
(B) October 24
(C) September 5
(D) July 4

. 67. Findthelastterminthe following numbers:
230, 246, 271, 307, ?
_(A) 412
(B) 356
" (O) 518
D) 612

_68. The vaccine for Kala-azar was invented by
(A) Amalesh Tripathi
(B) Upendranath Brahmachari
(C) Hargobind Khorana
(D) Shanti Swarup Bh?.tnagar

69. Megasthenes was the author of
(A) Milinda Panho
(B) Indika
(C) Periplus
(D) Tarikh

70. Amanbuyssomearticles atRs. Pperdozen

and sells them at Rs. i8)' per piece. His profit
per cent is

(A) 30%

(B) 40%

(©) 50%

(D) 60%

A-15
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66. AFRY M #ifere o Afbemzm
(A) 25 SIRA
" (B) 24 ©E@ERT
(C) 5 GBI
D) 4TI

[

67. Sufafde wgralm o wE R m e
230, 246, 271, 307, ?
(A) 412

(B) 356
(C) 518
(D) 612

68. IS DR wREEE v =
(A) ot fa=ifd
(B) Sroigald I=mIal
(C) AR i
(D) i Fmet Sion1sia

69. GrotieE aat RS e A
(A) Fifer sttt
(B) R
©) cifdziz
(D) effad

70. &F JTE 4T B A P BIHE @R 928

ol oot - D1 R s | o o T
(A) 30%
(B) 40%
(C) 50%
(D) 60%
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71. Who was killed by the ‘Deccan Ulcer’? 71. FFERITEE wY @R AT TR IR
(A) Akbar e
(B) Babur (A) wrEm
(C) Aurangzeb (B) T4
(D) Shah Jahan (©) weRTER
' D) *RE=A
72. The square root of (i) X [-41—9) —-(%51-) is 72. (i) x (%) -:-(%}t‘-l?ﬂ' ISR ==
A) — 22
11 11
B) — Y
: ®) 70 ®) 70
7 7
C — &
(&) 11 | (o)) "4
1 i
@) (DI
73. Kabuliyat and Patta were introduced by 73. FIFTTS € A5 T2 (@ X7 BF] &= i
(A) Akbar , el
(B) Sher Shah (A) ST
{C) Babur ) (B) (N2
(D) Aurangzeb ©) 3=
(D) Srewm=d
74. A man sells two chairs at Rs«120 each and 74, 93 & 120 T 46 GAET aro R
by doing so gains 25% on one chairand losses 25% I 2 GF0 GIIE 25% 1S I 'S S 25%
on the other. His loss on the whole in Rs. is = 7 | S B = 2w ()
(A) 20 (A) 20 '
(B) 16 (B) 16
€y 25 ©) 25
D) 30 (D) 30
75. The single discount, which is equivalent to 75. GFi6 @W@"G, Tt f&als Farers %’ﬁ’f@'\@
three successive discounts of 25%, 20% and 10% 25%, 20% <% 10%-93 T 4, ©f &
1 (A) 46%
(A) 46% (B) 54%
(©) 55% D) 45%
D) 45%



76. If the cost price of 10 articles is equal to the
selling price of 16 articles, then the loss per cent is

(A) 37:5%
@) 30%
(C) 42:5%
(D) 45%

77. One Horse Power is equivalent to
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 751 waitts

78. ONGC is involved in
(A) Space Research
(B) Medicines
(C) Oil Exploration
(D) Defence

79. A and B together can do a piece of work in
12 days while B alone can finish'it in 30 days. A
alone can finish the work in

(A) 15 days
(B) 18 days
(C) 20 days
(D) 25 days

80. What is the smallest number that must be
added to 1780 to make it perfect square?

(A) 39
®B) 69
() 59
(D) 49
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76. 107 T FwEy AW 161 397 Remems
T 2F, ST "o FE 2 '

(A) 37-5%
(B) 30%
(C) 42-5%
(D) 45%

77. 9T el =
(A) 745 watts
(B) 746 watts
(C) 750 watts
(D) 75Lwatts

78:, ONGC #ZIb (1 I 70H &
(A) T gl
(B) €3y
(C) Vot SrE
(D) efezrst

79, A'eB T TG 12 R 903 @R B @ €%
T 30 [ R A A 91 9% T 08 IF

(A) 15fam
B) 18 =
(©) 20w
(D) 25 s

80. 1780 SRYIVT AL FIA4THF F© @ FIE
FRYI G0 #jofef APt 2= 2
(A) 39
(B) 69
(©) 59
(D) 49
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81. The Prime Minister of UK is
(A) David Cameron
(B) Boris Johnson
(C) Rishi Sunak
(D) Teresa May

82. Beri-Beri disease is on account of the
deficiency of

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

83. Bill Gates and Paul Allen are associated
with one of the following institutions:

(A) Google
(B) Apple
(C) Microsoft
(D) IBM

84. If a * b =a?, then the valueof 5 * 3 is
(A) 125
(B) 243
(C) 53
D) 15

85. The Calcutta Medical College was
established in the year

(A) 1834
(B) 1835
(C) 1838
(D) 1839

A-18

81. TSI SUNE ZEW
(A) (TFET Wt
(B) I T
(C) 3 o7
(D) BT &

82, FuERe fEHfime weim RE-EfE @
B
(A) fooifRm A
(B) f&6ifE= B
(C) Fouifm C
(D).feetmD

83, TR (5631 =R ofF S 9T AN @ FegoT
AT 3
(A) Google
(B) Apple
(C) Microsoft
(D) IBM

84, M a*b=a"TF, W 5+ I 9qAA I
(A) 125 '
(B) 243
(©) 53
(D) 15

85, hererel it se Ao zafes &
w ’ .
(A) 1834
(B) 1835
(C) 1838
D) 1839

i



86. By selling an article for Rs. 1400 a man lost

30%. At what amount should he have sold it to gain

30%"?
(A) Rs. 2600
(B)_Rs. 1500
(C) Rs. 1800
(D) Rs. 2000

87. One of the following countries is not a
permanent member of the United Nations Security
Couneil.

(A) USA
(B) England
(C) China
(D) Japan

(2:3)’ —0-027
(2-3)* +0-69+0-69

88. Whatisthe value of

(A) 03
B) 2:3
01
(D) 2

89. The Arabari Model for Forest Conservation
was undertaken in the state of

(A) Odisha

(B) West Bengal

(C) Kerala

(D) Sikkim !

90, [%) thof (%) th of a number is 240, What

is the number?
(A) 12
(B) 1200
+ (C) 48
(D) 4800
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86. <= I 1400 Sivt R Taw 97 Tfeg
30% =% Ak | T Sy Iub R w36 €2
e 30% =ie o7

(A) 2600 B
(B) 1500 5
(C) 1800 Bist
(D) 2000 B

87. ffiiRe =Rl e Rase sfama
FIE T |
(A) FT IEaig
- (B) TS
. (C) T
(D) @i

= (2-3Y —0-027
(2-3)

(23)* +0-69+0-09
(A) 03

(B) 23

o1

(D) 2

88.

R ERICE S

89. I FHEIF 0 e el e
TS i

(A) efett
(B) fomast
©) e
(D) Fifdw

90, (IR (%)—cﬂﬁ (%J e 240,

o WA TS
(A) 12
(B) 1200
(C) 48
(D) 4800
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91. The Reserve Bank of India was founded in
(A) 1935
(B) 1934
(C) 1936
(D) 1937

92. Loktak Lake is located in the state of
(A) Sikkim
(B) Manipur
(C) Nagaland
(D) Mizoram

93. A mixture of 40 litres of milk and water
contains 10% of water. How much water must be
added to make the water 20% in the new mixture?

(A) 10 litres

(B) 7 litres
(C) 5 litres
Thedistance

(D) 3 litres

94. Thespeedofabusis
covered by the bus in 5 seco

(A) 50m
(B) 745m
(C) 60m
(D) 100 m

95. Bagha Jatin was the nickname of
(A) Narendranath Bhattacharya
(B) Jyotindranath Mukherjee
(C) Troilokka Maharaj
(D) Bipin Chandra Pal

A-20

91. wiarea Fers s afelde =
(A) 1935
(B) 1934
(C) 1936
(D) 1937

92. (FIFHE T¥ (¥ ANE TAZS
(A) e
(B) wfdefz
(C) eiteme
(D) freram

L 2
93. w48 40 o f 10% o=
wirg | B o2 s T Agw e 20% T

%‘
) 10 o
(B) 7 o

(C) 5for=
(D) 3 o=

94, 37 A offe = 72 /%t b 5
GRS (@ Y o FT—

(A) 50 o=
(B) 745 fiorE
(C) 60 filsra
(D) 100 fiora

95, fFsfefle wa@ <QEEeW wEim offifoe
farem

(A) s SEHRE
(B) (enifoammig JAG
(C) @ TR
(D) faferm 58 e




96. Thelargest numberamong 2-6,2-066, 2-66,
2:08 is
(A) 26
B) 2-66
(C) 2-066
(D) 2-08

" 97. The Asiatic Society of Calcutta was founded
in the year

(A) 1784

(B) 1785

(C) 1786

(D) 1792

98. The filament of an electric bulb is made of
(A) Hydrogen
(B) Tungsten
(C) Halogen
(D) Mercury

99, If90% of A=30% of Band B =x% of A,
then the value of x is

(A) 300
(B) 800
(C) 700
(D) 400

100. A boat can run 13 km/hr in still water and
speed of current is 4 km/hr. In how many hours the
boat will cover 68 km downstream?

(A) 2
(B) 3
© 5
(D) 4
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96. 2-6, 2-066, 2:66, 2-08 ALSFR W&y 0T
TR 27
(A) 2:6
(B) 2:66
(C) 2:066
(D) 2-08

97, el e ufimite cietElh @ afefs
ELiS
(A) 1784
(B) 1785
(C) 1786
(D) 1792

98. Ao AT Femars @ «igd tofF it =
(A) TRgItEw
(B) Biwoa
(C) Zietirem
(D) iEm

99. Iff A9 90% = B-97 30% R B = A9
x% T, Oy xF A T
(A) 300
(B) 800
(C) 700
(D) 400

100. €0 CTioR e sifezm 13 foft/a6r e
Jw T afe = 4 5/ e wg
L 68 M @Te F© 961 7w A2

(A) 2
{B) 3
(©) 5
(D) 4





